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QUESTION 1

Which of the following about transport and service tunnels is FALSE?
A. Service tunnels are unidirectional.

B. Transport tunnels are unidirectional.

C. A service will use the same service label for every hop.

D. A local service requires a transport tunnel.

Correct Answer: D

QUESTION 2

Which of the following about the VPRN data plane is TRUE?

A. A packet receives a service label and a transport label at the ingress PE.
B. A packet has its service label swapped at each P router.

C. The egress PE pops the service label, and the transport label is forwarded.
D. The service label is popped by the remote CE.

Correct Answer: A

QUESTION 3

Consider an E-pipe service configured with SAP 1/1/1:5 and SAP 1/1/1:6. If the SAP 1/1/1:5 accepts an ingress frame,
which of the following is TRUE?

A. The frame egresses from 1/1/1:6 with no VLAN tag.

B. The frame egresses from 1/1/1:6 with VLAN tag 5.

C. The frame egresses from 1/1/1:6 with VLAN tag 6.

D. The frame egresses from 1/1/1:6 with an inner VLAN tag of 5 and an outer VLAN tag of 6.

Correct Answer: C

QUESTION 4
Which of the following about VPRNs is TRUE?

A. Customers must use the same routing protocol as the service provider.
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B. Customers belonging to the same VPRN service must use the same subnet.
C. Service providers only need to perform configurations on the PEs to add additional VPRNSs.
D. For each VPRN, only one customer can be connected at each PE.

Correct Answer: C

QUESTION 5

Which of the following statements is TRUE concerning route distinguishers on the Nokia 7750 SR?

A. Route distinguishers are 12 bytes in length

B. Route distinguishers are appended to IPv4 prefixes to form 16 byte VPN-IFV1 prefixes.

C. Route distinguishers are used to determine which routes a VPRN should import.

D. CE routes must be configured with the proper route distinguishers for the VPRN they are associated to
E. All of the above statements are true.

F. All of the above statements are false.

Correct Answer: F
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